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FIRST SEMESTER B.A/B.Sc. DEGREE EXAMINATION

‘ NOVEMEER 2019
(OCUCBCSS—UG)
Computer Science
RCS 1C 01—COMPUTER FUNDAMENTALS
(Common for 2014 and 2017 Admissions)
Tiwne : Three Hours Maximum : 64 Marks

Part A

Answer all guesiions.
Fach question carries 1 maork.
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{a} Latency. {(h)  Beektime.

4)  Access time.

.,

(¢} Turp around time.
$1. kil in the blanks :
4 DV stands for ———

-

— converts bitmap images of characters to egnivalent ASCH codes
¢ Ezpand LCD : ——
Iil. State whether the following statements are True or False.
7 10,0= Aje
8 BOD is an 8 bit code that can represent 256 different characters.
9 ROM is a volatile memory. .
(9 x 1 =9 marks)
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Part B

Answer all questions.
Each question carries 2 marks.

10 Differentiate seek time and latency.
11 Whatis MICR 7
12 What is an image scanner ?7
13 Implement OR gate using NANT).
14 Convert

(a) (45), = ( —— )¢

(b) (ACB)5 = (—-—).

{6 x 2 = 10 marks)
Part C

Answer any five questions.
Each question carries 5 marks.

‘onstruct a lagic circuit for the Boolean expression A -~ B+ C-{A+3-D) using NAND gates
only. ’
State and bmve the two basic De Morgan’s theorem.
State the funciious of any five ryzisters of CPUL
What are advantages and Lmitations of magnetic disks ?
What is a fluw chart 7 Draw a flowchsart o print the biggest of three nunbers.

What is an algorithm ? Write an algorition o add up all even numbers between O andd 100 ond
print the resuit.

Define the terim byte. What is the difference betwoeen a bit, nibble and byte ? Write notes on BUD,
EBCDIC, ASCII ?

Compute the following :
(A) Convert (72}, to decimal and octal
(B) Convert (1056); o decimal and hexadecimal.

(C) Convert {(45),, to octal and hexadecimal.

(5 x b = 25 marks)
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Part D

Answer any two questions.

Each question carries 10 marks.

23. Compute :

(a)
(b)
{c)
(d)
{e)
)
(g
(h)
(i)
G

(110101}, + (10011),.
(111110), + (160010),.
(101011), + (110),,

(111), + (1000),.
(11000110), + (0101001),
(10001), — (111),

{11111), - (10101),
(101110), - (11011},
(1010100), — (10010}.

(100}, — (11),.

24, Briefly explain Secondary storage devices.

25. Explain various types of printers.
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(2 x 10 = 20 marks®
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